. Question No. 14

P it e i i st

The compoundbelow is an
: CHq

|

CH 3—C—NH>

l

H

- dmide

eSter m
dMine \ /

acig
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l

. What is the term for the concentration expression that relates the moles of solute dissolved in each liter of
'~ solution?

-

| molality (m)
' {0 parts per million (ppm) _ I
- (O molarity (M),

() mass/mass percent (m/m %)
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Question No. 36

' Calculate the molar mass of Ca CO;.

| {120 gfmol

. () BT gfmol

, 1 50 gfmol

;w100 gfmol
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Question No. 37

| The conjugate acid of HSO, is

| @ HaS0y
| «» HSO4*
(. H*

o SOy
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. Question No, 38

What is the equilibrium constant expression for the following reaction?
2 CHyg) + O2(g) & 2 CO(g) + 4 H,(g)

|0 Ke=[COY [H,]'/ [CH,J [0)]
O Ke=[CH[0,]/[CO] [H,]
U K¢=[CO)[H,]/[CH,] [0,]
. Ke=[CH,J' [0,]/[COT [H,]*
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. Question No. 39

S, .

- Cycloalkanes
| L2 Alkenes .
| Atkynes
L Alkanes

are the most reactive hydrocarbons.
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, Question No. 40

Wmich of the following solutions is “acidic"?

0 [H,0"]= 1.00x 107*M
o [H0']=1.00x107'M
: v [H;0']=1.00x107'M
0 [H,0']=1.00%x 107°M
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Question No. 20

The oxidation number of phosphorus in PF3 1s
) +1

-5

o M |
i 45

\Save &iiext

R i)
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Guestion o 31 EEEE

AnNNSIE OF An unenowT substance showed Mat 1 has a kgn bokng pomt and = beittke (1 S 30 As0lator a5 3 ol bul conduces elecinety when
meled WTCh of the fafowing subsiances woukl Nave mase characteratics?

1 M
HCl

o
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Question No. 32

The conect name for the acd HCI is |

L hydrogen chioide
v hydrogen chiorale
o hydiGohione

v hiydrogen chionte

T L T
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Question No, 34

. Provide the name of the compound below.

d-Munea- 2-methytpentane
C 0 A -Tuoro -4-melhyibutane
i 2-fivoro pentane

o 4-fluero pentane
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f Guestion No. 25

| A chemical equallon is balanced when

L2 the total number of molecules is the same i reactants and products

;L ine number of aloms of each element s the same i reactants and products.

| e tne total number of lons 1s the same in reactants and products

|1 the sum of the coefficients of he rea clants is equal f0 {he sum of the coeMcients of the products
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Cuestion No, 32 n

. Caonsider the reaction below at equilibrium, What is the effect of reducing volume on the system ?

| CuS(s) + O2(g) = Cufs)+ ST2(g)

The equittegm censtanl will increase
L The pgquitiiriem consiant will dacrease
1L NG eftel wall be ohserved

L The 1eacton will ShIM 1o the 1ght In the direction of produdts.
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Question No. 23

- R T T N Y T W T PP S SR TE Y SR

When the temperature is decreased on the following system at equilibrium:
HClyy + Mpy & MpClyg + Hup + heat

.+ None of these choices is true
(. the reaction shifts left to restore equilibrium
0 NG change ocours

| the reaction shifts ngnt to restore equilibrium
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| Total questions in exam: 40 | Answered: 22

. Question No, 25

- Which of the feliowing pairs of compounds are cis-trans 1I5omers?y

CH; b f":Hg CH;R H

l.f
) = |::~\|L and o=C_
H H H CH;
CH; H H 5 JH
I. L ,rc:t:x and '_.cd-_':‘\
, H H H CH;
| CHy  CH H CH;
| () fC='l.'.‘,_ and =0
| CHy 'CH; ol CHy
| €8y 'K H' CH
L =Gl el L L=
CHy” H B CH;
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' Question No. 24

. Whatis the empirical formula ofthe compound thathas a composition by mass of 13.6% C
- and 86.4% F?

| CFs
' 1» CF

| & C3F;
& CoFy
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| @Question No. 26

e ek T e | R ) B i L Rt b s

(2 2.13 x 1026 Fe atoms
» 3.82 x 1024 Fe atoms
| © 2.62 X 1023 Fe atoms
O 4,69 x 1024 Fe atoms

a2

J i e e B e e —_— i
L1t e = — T

How many lron (Fe) atoms are contained in 354 g of fron?
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Quastion Mo, 28

Identify the conjugate 2cid in the following reversible reaction.

HF(aq) + HSOy(aq) «~ F{aq) + H:S0Os(aq)

¢ HaSOs{aq)

: > HF{aq}

[ A IISG}'[aq]

i Fr{aq)
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| Question No, 29 “l

| ‘ Vi
[ o pao 0 of NaoH ae dinsofued o epoogh wales o moke 2 56 of solation, whal B e mokariy o this solulion?
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. L ) ) . 7 i e -
Quesnhon No, 27

Wi es the motansy of HCH r.-:_rne fnal saluton when 100 mL of 2 12 M HCT solufion (s diited with pure water lo a total fmal volume af 0 12 L7

4O M
iF 10M
O JOM
|30
|
Next
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Question No. 15

What is the name of compound has the following general formula?
O
I
R—C—O—R'

w1 kelone
+ aidehyde
i+ carhoxylic acid

s esler
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Question No. 16

ldentify the functional group:

/\)”H;
i Kelone
L amide

L armine

o Carbaxylic acid
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. Question No. 17

- Organic compaunds with the general formula R-O-R (where R 1s an alkyl group) are calied

i aldehydes
i+ carboxylc acids
i amines

it ethers
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N

Question No. 18

Hous=hold sugar, sucrose, has the mmolecular forroula CizHzzOni. What is the mass percent of carbon in sucrose?

628 %
65%

B14%

421 %
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e e e =T e — e BT

'I Question No, 14
:! Determine the value of K¢ for the following reaction if the equilibrium cqncr:utratiuus are
. as follows: [HClleq = 0.13 M, [HlJeq = 5.6 x 10-16 M, [Cl2]eq = 0.0019 M.
| 2 HCl(g) + I2(s) = 2 HI(g) + Clz(g)

| © 3.5 x10-32
O L4 x 10719
"0 2.9 x 1031
¢ 1,2 x 1017
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Question No. 19

VWhich of Ine folliowing compounds 15 3 weak acd

HF
HXNO
HCI
HBr
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' Question No. 20

. ‘What class of hydrocarbons has the general formula CpH2n?

L) aromancs
o alkanes
o bath alkenes and cycloalkanes

dlkynes

Scanned with CamScanner



Total questions in exam: 40 | Answered 16

Question No. 21

Name the following erganic compound:

2. 3-diethyl-1-hexyne

i+ 2 3-chethyl-1-hexene

o d-ethyl-3-methyleneheptane
2-ethyl-3-propyl-1-pentene

' Save & Next
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| Guestton No_ 22

|
I Which of the fu]]uwing substances pives a srong electrolyfe?

O Mgcl,
& M0
|

|._::. Nl

[ EHq

i m —— ——

L HP Compaq LETZ7TY [+
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Question No. 10

How many 1ﬂér§ m‘é 1"3-M NaOH solution containing 0 4 male of NaOH?

& 1.21L0
i3 1320

' 0A0L
3251
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. Question No. 11

© What is the name of compound shownbelow?

o~

L aniline
| L benzene
| Lt phenol

i+ ldluene
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: Question Na_12 ﬂ.

| Which of the following is the electron dot formula (Lewis structure) for an atom of

carbon? '
(a) C (b) -C: (c) -C- (d) :C:
L (a)
' [a)
i {By

(c)

Scanned with CamScanner



i, ey e TR E AT CTTE LT ERNES

MKCL OES

| Total questians in exam. Au'tﬁnsmfd-f TR O A sy Ll A e B L A O ML

' Question No. 13

It a rain-water sample has a pH = 5.8, this sample is

|0 weakly acilic
b strangly acidic
i wedkly basic

i newtral
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| Question No. 5

fl Lewis Acid Is defined as
|
.l
II ;
| © an electron pair acceptor
|

| O an electron pair donor

| N :
| O Produces OH- ions in an aqueous solution
| & a proton acceptor

|'
|
|
{
|
|
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Question No.7

Provide the name of the compound below,

i) 4-ethyl-5 5-dimethyl hexane
iy 2-methyl-3-ethyl hexane

o L 3-elhyl-2 . 2.dimethyl hexane

D 4-ethyl2 2.dimelhyl hexane
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Question No. 6

[n the reaction below, whal is the theoretical yield in grams for BaHg when 5 moles of
BFy react with 4 moles of Natl?

| 8 BF3 + 6 Nak — 6 NaBI'4 + Bl

L 285q
LY
| 1259
w1730

Save sty
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Guestion No. 9

react with oxygen gas according to the reaction?
C3;H,COOH+50; — 4C0; + 4HO

it 1339
Lr22 9

4449
BB g

o

Save & Next:
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Total questions in exam 40 'i_Ans_wé[éEI 7

Question No, 8

When the substances in the equation below are at equilibrivm, at pressure P and temperature T,
| | the equilibrium can be shifted to favor the products by

| CuO(s) + Hi(g) = HxO(g)+ Cu(s) + Heat

o adding more Cud

Ll I'I'IUEE!SII'ID e PFESSL![E

L decreasmg the pressure

i decreasng the temperatinre
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' Question No. 1

[ . . . . '
l A double covalent bond containg _____ shared electrons
|

|

) faur
() one [:i'
L) two

L) three
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Question No. 3

Name the following compound:

P i ol

3-ethyl-1-pentyne
J-othyl-2-pentyne
3-ethyl-4.pentyne
3-athyl-5-pentyne
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I .
' Question No. 4

I
| —
| What s the oxidation number of sulfur in SDSE'?

D +6
O -2
) +2
L +4

e

[SavENERy

Scanned with CamScanner



| The most correct name for the compoundN;Oj is:

L dinitrogen tetraoxide
( mononitrogen trioxide
(& dinitrogen trioxide

| {2 nitrogen oxide

4
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Select the element whose Lewis dot symbol is correct.
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Question No. 2=

o ducts
Which of the following substances Gan make an agueous solution that con

glectrcity?

Cy;Hp O
v CO
CH;OCH,
Mal;
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The empirical formulaofthe compound CO is:

e
o G0y

o CO;
¢ CO
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entane” ?

How many hydrogen atoms are there in P

h

0
12

Scanned with CamScanner



Scanned with CamScanner



Scanned with CamScanner



Scanned with CamScanner



Scanned with CamScanner



Scanned with CamScanner



Scanned with CamScanner



Scanned with CamScanner



Scanned with CamScanner



Scanned with CamScanner



Scanned with CamScanner




Scanned with CamScanner



Scanned with CamScanner



Neme the following organic compound:

O dethyl 3-methyleneheplane
2. 2.0yl . haxene

o Z-CiNYR3-propyl-1-pentone
o 3ty 1-heayne
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Which of the ff,;llm?ng_igmﬂ if the = R
* hydronk i en
AqUeNUs solution? Jm lon concentration "decreases® in an

H-]
© pHdecreases E{)

T Ky decregees
© Ky increases
@ PH tnereases
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[dentify the tpe of this organic compound:

o aldehyae
o alcohol

o carboxylic acid
kelone

Scanned with CamScanner



Scanned with CamScanner



Scanned with CamScanner



Scanned with CamScanner



Scanned with CamScanner



Scanned with CamScanner



Scanned with CamScanner



Scanned with CamScanner



Scanned with CamScanner



Scanned with CamScanner



| What is the molarity of a solution if 618 g of NaBr dissolved to make 1.5 L of that solution?

i Question No. 17 4 .
|
|
|

0 6.0M
O 80M

O 40M
O 20M
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QuestonNo.23

. What is the coeﬂicient_ of dx'Ygen gas after balancing the following equation?
« A
__AgClO3(s) — _ AgCl(s)+__O2(g)

@3
I\;] 4

) 1
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e e e e B e e it

' Question No. 24

What isthe IUPAC name for CH, -CH,-CH=CH,?

Q 2-butene
© 3-butene
" 1-butene

" butene
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Question No. 25

The molecular formula for "hexene" is

R
CTaran B Sl
3 - . - 1K
[ JAVE & FVCA

_A
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! Question No. 26 W .
| .

\ What is the equilibrium constant expression for the following reaction?

| : - 2CH,(g) + 02(g) = 2 CO(g) + 4 Hy(g)

O Ke=[CHJ [0,]/ [COP [H,]}
0 Ke=[COT '/ [CH,I' 0]
o Kc=[CO] [H,]/[CH,] [O,]
0 Ke=[CH,][0,]/[CO] [H,]
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| Question No. 27 ' | n

- Which of the following pairs of systematic names and common names is correctly matching?

-

- O aniline = aminobenzene

- O acetylene = ethene
O phenol = methylbenzene
O toluene = hydroxybenzene
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| Question No. 28

Oxidation is the and reduction is the

- O loss of electrons, gain of electrons
() gain of electrons, loss of electrons

- loss of oxygen, gain of electrons
(.’ gain of oxygen, loss of electrons
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How many moles of cesium (Cs) are contained in 595 kg of cesium?

O 7.91 x 104 moles Cs
© 1.26 x 103 moles Cs
O 2.23 x 102 moles Cs

O 4.48 x 103 moles Cs
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" Question No. 31

Calculate the molar mass of Fei(POs):2.

-

) 357.5 g/mol
) 525.1 g/mol
) 262.5 g/mol

237.6 g/mol

|
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Question No. 32

Predict which of the following has a polar covalent bond.

HCI
LiCl
KCI
NaCl
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Question No. 33

Which of these species will act as aLEWi:SBﬁCFd-’?

© H0

5 BF;
F-
NH;
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Question No. 35

The most correct name for the compoundN;O; is:

' nitrogen oxide

 dinitrogen tetraoxide

. dinitrogen trioxide
mononitrogen trioxide

A %
N - il &
s 419
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Question No. 36

What is the oxidation numberofcarbon in Na,CO; ?
) +2
+4

+1
0

| Save &Next)
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Question No. 38

Name the following compound:

V4

2-ethyl-2-methyl-6-heptyne
2-methyl-4-ethyl-1-heptyne
4-ethyl-6-methyl-1-heptyne
4-ethyl-2-methyl-6-heptyne
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| N L

~ In the reaction below, whatis the theoretical yield in moles for NO when 3 moles of
- NHj; react with 3 moles of 03?
| 4NH; + 50, = 4NO +6 H,O

© 2.8 mol
) 3.0 mol
) 2.6 mol
= 2.4 mol
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 Total questions in exam: 40 | Answered: 12

Question No. 40

Provide the name of the compound below.

CH, CH,CH,

i
CH;CHECHE_ C—CH

l I
CH, CH,CH,

5-ethyl-4-methylheptane
3-ethyl-4 4-dimethylheptane
3-ethyl-4 4-dimethylpentane
1,1-diethyl-2 2-dimethylpentane
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AN 1onk: compounid

- has a net positive ¢ nnma

L} contains only cations

. O has a net negalive charge
0 has a nel charge of zero
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Name the ruuowiug compound,
CH,CH= CH‘?HCH A
CH :

1. T-dlrnethﬂ*a.mene
Z-methyipentane
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Usming Lewis dot

0 pairs
2 pars
1 po

d pairs

truc
structure, find the number of Jone pairs of electrons on the “P” atom in PFy
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Caloulate the mola ming of Fey(POy);

AN Qfimal

AL
A0 B il
020 ghnl
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The gaining of oNe o MOTE ERCirons IS knNown a8

O sectrochemistry
o redox
©ovddation

© reduction
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- The most correct name for the compound NI; is:

CEmononitiogen ikidkle
CF nlmgen kdide

L iodo nitrogen

o ntiogen litiodige
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Which of the following pairs Is NOT a conjugate ackd-base pair according 1o The concept of Bronsled-Lowry?

© H;POq and H:PO4~ =
o HPO4-and POs3-

o HiPO4 and HPQs?-

_ HiPOs and HPO4?-
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Qul-' No.

AN 1onIC compotnid

O has a net positive charge

- containg only cations

) has a net negative charge.

©1has a net charge of zero
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L) 4-H1FII'IH-E-=|1EMEHE
G 1*1.¢:|irne1[ur_l-3-hutene
© 2-methyipentane
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The most mrmctnanrﬁ:i'themmpomﬂsﬁuﬁ:

« suifur bromide

> monosulfur hexabromide
o sulfur hexabromide

< monosulfur heptabromide
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Save & Next L?
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© Cycloalkanes
© Alkenes
© Alrynes
- Alkanes
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< sulfur bromide

« monosulfur hexabromide
o sultur hexabromide

< monosulfur heptabromide
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Question No, 4

: What is the Thmily of this organic compound?
|

CH;|""C _O"CHa

o osler
o aldehyde
o kelone
« carboxylic acld
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T [ =
‘N What is the name of compound shownbelow?

. e
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Whatis the JUPAC name for: CH,-CH.-CH

0 butane

© hexane
© heptane
() pentane
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Provide the name of the compound below.

F

- 4-%ure-3 5 cmethyhexane
© 3More-2 2-dmethyhexane
- Ffuore-2-sopropyhexane
L 3-fuorn-2 2CETDerans
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| -
. How many molecules of CO; could be produced when 2 moles of C:HgO completel
. withoxygen gas according to the reaction? S

C:HO+30; — 2C0O; + 3 H:0

< 12.04 x 102 moleculee
“' 2 molecules,

L 24.08 x 10 molecules.
4 molecules,
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]
VWhen the reverse reaction Is favoreq. ~CTEET

© The rateof the reverse reaction is less than the forward reaction.
© The equilibrium constantis much greater than one; thatis, X'

eq™> |
The rate of the forward reaction is higher than the rev

erse reaction,
The equilibrium constant is much less than one: that js, Keq << 1
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| [ [t
In the following reaction, which substance is acting as a Bronsted-Lowry base?
H,0+ NH; —= OH "+ NH,’
o HO
U O’
NH,’

NH,
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e A gER

Using Lewis dot structure, find the number of lone pars of electrons on the “P* atom in PFy.

0 pais
4 pairs
1 pivke
3 pairs
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| o = TSt
 Express the equilibrium constant for the following reaction.
C(s) + CO2(p) = 2CO(p)

2
[CO,]

3 K [CD]
O Ke= 1
[CO,]

k.= [c0)?
Ke ICG:]

L8 Kc = _l:EE}lI-_
[C][CO,)

¥
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Provide the name of the compound below.

F

- 4-%ure-3 5 cmethyhexane
© 3More-2 2-dmethyhexane
- Ffuore-2-sopropyhexane
L 3-fuorn-2 2CETDerans
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What is the oxidation number of nitrogen in NO; ! 2
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Juestion No. 5

e o TR — o m—— o — — ——

rovide the name of the compound below.

>N :

3, 3-dimethyl-1-pentene

-

.3-dimethyl-1-pentyne
.J-dimethyl-1-pentane
3-dimethyl-4-pentene
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Identify the conjugate base of HPO §
- > ¢« 10 the !

0 H:0
0 H:CO0:
- © HCOy
¢ POS&
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i

- —— e ama i

{ [ =
cugmE i

Vihich ot the 1 - _ .
olowing 1s true If the Rydronium lon concentration “increases® in an aqueous solution?

© pHincreases
O Kw increases
“ Kw decreases
~ PHdecreases
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Which family does the following organic compound belong to?

-

o aloehyde
_ carboxyic acd
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oEEE n

' Which o thefnﬂuwﬁ'l
I

O CO

O CHyOCH,
QO CyHy0y
© Mgl,

S - —
_— =

— . R -

g substances can make an aqueous solution that mnﬂuﬁs electricity ?
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| Total questons i exam 40 | Answered 2

r -
|II =

" The molecutar formuka for “cyclopropane* H-

() “1":
o CyH,
o CH,,
1 -(f;rIl”
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~ The molar mass of wmer equals

© 18 g/mol
' 36 g/mol
O 27 gimol
© 54 g/mol
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CAlCTTATa The molar mass of Fey(POy);

Q23w ()fimal
OG0 ghmol
L2625 g/imol
R4 O W T
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o Keg= [CuOP/ [Cuf[0;]

o Keg= (03]

o K= [CuOJ/[03]
Keg=1/[03]
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Chemistry FT _Sem1 2019

Tolal questions in exam' 40 | Answered 2

= e
When magnesium bumns in air, it produces MgO

Mg (s) + 02 (®) — 2MgO (3)
When 2.00 g of magnesium burns, the theoretical yield of magnesium oxide is

2009
0082 g

332¢g

. 166g
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; What is the name of compound has the glluwing general formula?
RCOH
) aldehyde
o ester

(. carboxylic acid
) phenol
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How many liters of a 1 3 M NaOH salution containing 0 4 mole of NaOH?

C 1321 B

©030L
12110
2 3.25L
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How many moles of (NH4),S aretherein 150 g of (NH4),S?

i 1.04

o 221 B

' 1.56
15
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| What is the type of the following alcohol?

Scanned with CamScanner



Scanned with CamScanner



| e e
i
| S e WAy i Tl cxmvprorsaed w1 0

:
~“monosulfur hexabromide

+sulfur bromide

“Mmonosulfur heptabromide
“sulfur hexabromide
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Household sugar, sucrose_has the molecular formula Cy:Ha:04.

©6.5%

@514 %
©421%
62.8 %

What is the mass percent of carbon in sucrose?
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“ lurns blye Iitmus o red
' reacls with 5 melal

* 15 3 proton donor
IS an electron-pair acceplor
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The corredt name of the compaund GO s
* Ca'hon monaxida

* Monocarbon Manoxide
¥ Carbon diowds

© Carbon axide
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